Multiplying Two Binomials (C)

Simplify each expression.

1 (—0° 4+ 4t (v + 2)

[\

(=8 =D(=6f =5)

3. (=5v* — 50)(5v° 4 v?)

1 (30 + 7b%) (6b* + 4b%)

5. (—4s* — 7s)(—4s* 4 %)

6. (90 — Tv)(4v* — 3v)

BN |

(7Th 4+ 9)(—9h* + 4h)

Q0

- (—8h* + Th)(4h* + 3h)

Ne)

(44 (8¢t — TP

10. (m® — 6m*)(—2m + 6)
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Multiplying Two Binomials (C) Answers

Simplify each expression.

(=0 + 4t (v +2)
— % +20° + &v?

[}

(=8f =1)(=6f—5)
— 48f* +46f +5

N

3. (=50% — 50)(50° + v?)
= —250" — 300° — 50°

(30 + 7b%)(6b* + 4b°)
— 18" + 54b° + 280°

I\

Ut

- (—4s - 7s)(—4s* 4 %)
= 16s° 4+ 245° — 75!

- (90? — 71})(41{2 — 3v)
= 36v* — 550° + 210°

D

=~

(Th +9)(—9Rh* + 4h)
— —63h% — 53h% + 36h

09

- (—8h* + Th)(4h* + 3h)
— —32h* + 4h3 4 2142

)
N®)

(4 4c*) (8¢t — TP
— 8¢’ + 25¢% — 28¢°

10. (m® — 6m*)(—2m + 6)
— —2m5 + 18m® — 36m*
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